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. [ go to school every day.

- [ understand your words.

« She studies a book every night.
. We eat Omlet every week.

« They come here every day.

h Exercse 1:

. He always comes late.

. They always go mountain climbing.

. She often works at the weekend.

. it's often difficult to translate poetry.
. This type of accident often happens.

. T often go to his house.

.Tusually wear black shirt.
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. He plays tennis occasionally.

. Women usually live longer than men.
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( Simple Past tense ) esbw azsdS olsj - ¥

ro0lw a2 38 oy yxd b 3 )b
(J=d 293 Crownd) 8 aisdS 4

« She moved to New York last month. L8y (S)g0 gu b i3S olo gl
« They didn't buy a new TV last week. L3530 32 9ol Sy e AS ovas lgiT

Where did you go on vacation last? . o
$ 3418 S oS Jbw Slghss

- year

« The old man was sick. He had to go to FSS Ul 39459120 gl 39y s Spopu
the doctor. Sgp
h Exercise 2: dled desy3 1y 3 codles

1. Last year I couldn't speak English well, but now I can.

2. We invited them to our party but they decided not to come.

3. She passed her examination because she studied very hard.

4. Charles entered the hall, looked around, took off his coat and put it on a chair.
5. They weren't able to come because they were so busy.

6. Nobody knew about end of his life.



(Present Continuous Tense) ,l,oxwl Jb> 0l - ¥

&slyataol Jlo Lz Ly

Jeld@ + (am/is/ are) + Gerund

Gerund =,l> ing J=8
-1 dslal join 4 39y 0 )15 () el ol sl )lyeial > 0y

» ['am listening to the radio now.

« Mehri is coming from high school.

« She is going to hospital.

« We are explaining the lesson for him.

« [ am eating now.

h Exercise 3:

1.Tam driving in my car.
2.1am walking in street.
3.T'am talking with you.
4. She is reading a book.
5. They are thinking about it.

6. You are learning English .
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(The Passive Voice)



(the Passive voice) lisee sloilej 35 Jogo Jlrdl.d

He keeps He is kept
osbw Jbo _ . <
31y o0 685 gl 394 50 (5515855 9l jl
He is keeping He is being kept
Gyl Jo <. s < ;
3l 50 635 350> gl gl 50 (51555 31> gl jl
» He kept He was kept
o5Lw oL AS = =
Sl 635 gl jl sl (515855

RIS FNAANS

He was keeping
Cudbls o 685 Cubls

He was being kept
Sl 50 GJIAQSJ cubls gl jl

P He has kept He has been kept
Je ol oLl 655 Cuwl 638 (515855
S aibiS He had kept He had been kept
oS el g oibls 085 Sgu 030 (51555 gl jI
o He will keep He will be kept
o Cubls salgs 055 Sl dalg> (515655 gl
o He may keep He may be kept
o0

315 685 Cuwl S gl

Sgud (515855 Cuwl ySwo gl jI
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(the Passive voice) @liswo kil 15 Jgame Jladld
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He sees He is seen
oslw Jb . .
S 50 gl Sg 50 6323 gl
He is seeing He is being seen
Sybaiwl Jo S 0 I gl g0 0305 318 gl
He saw He was seen
o3l 6L AS .
o5 gl Sl 059 gl
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He was seeing

oS0 Cudls gl

He was being seen

Ao 0305 bl gl

He has seen He has been seen
o Jo Cowl osgs gl Cuwl 030l 030 gl
He had seen He had been seen
oS 0 33 N
3gs 630> gl g 030l 050> gl
He will see He will be seen
e . a o
- S dalgs gl S SalgS 6500 gl
B He may see He may be seen
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e ko
I speak English every day. L(O5S oo s Ll o) 4 (0
I repaired the car. o35S posi |y il (40

20y8 WS U Gl o plexil a5 Loe L)l (59, 0)lgs o0 Passive JSCi 5l oolaiwl b @

s e yglas
English is spoken here. L3gu 50 6ES yuw il s LSSl L) oo
The car was repaired. <3l ya083 95395 ¢l

910 Jeld 3 & s (g yit el 3l odis plouil Jos (aS cawnlPassive pys Loloy) S
dguinad SO JelB L o s dlan (slal o Jeld ) S3as g3lo aS cawl gas jo cownl
g 0 03yg) With Lin, by aslol dys L ales byl oL

ey

My proposal was approved by o> hungi oibdS edas (o Jljgrgp
university last week. .3 Cugual

The car was damaged by a truck. 2305 sl a0 lS Sy huugi gy3g3 ol

The shirts had been made in Turkey. 233397 030 05 L 0S5 55 L ydlyay T

The forest was destroyed with fire. L3 sy T gy JSio
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Amusing 0338 S, | Amused S
Annoying 1972y | Annoyed 03423
Astonishing S5l eps | Astonished Jamio
Challenging o339l Uiz | Challenged 03 03,08 il oy
Confusing 0>uiS 2 | Confused o 28
Convincing osuis 255 | Convinced o5 Mcliio
Depressing oS o55msl | Depressed 038l
Discouraging oS spuls | Discouraged Syl
Disgusting Ssleas | Disgusted ybiio
Distressing 9l kil | Distressed wyhiao
Disturbing oS esail | Disturbed INT)
Embarrassing 9! i | Embarrassed IENTIVA
Encouraging o5iS pS)s | Encouraged oSS
Entertaining 03uS pSyw | Entertained S
Exciting 9l s | Excited 055yl
Exhausting oS siws | Exhausted o
Frightening Sty | Frightened IR
Frustrating 018 30l s | Frustrated a0l G
Inspiring Ui plll | Inspired 030 plgll
Interesting 038 sio 63Uc | Interested o 08Ue
Pleasing sulings | Pleased (o) Sgiibs>
Relaxing Ui UisolT | Relaxed obT
Relievingt oxans ouSuws | Relieved obT
Satisfying Ui ouls | Satisfied o)
Shocking 9l w2 | Shocked o5 6S g
Surprising juS5l ewsS | Surprised 0.5 cudSud
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Gerund + Noun

el cio +
09y ayl (ygte )3 (6315 )yl s bas ol A S B by lis Lo £ 95 ol da 5 0950 4
Developing 05U tswgs
Moving 04 Sy
Developing countries (630L b2umgy) dwgi oy (5ldyguisS
Detecting (05051 el sa il
microelectrodes e L
Moving Arm (Jglcyio -1 ouidylgzuac ¢ygoil) (63115018, 2) Sy =0 5gjL
Immunizing Agent (093 (5o AD-AF usinylg 2 aac y90j1) (635 Luus o) jluw il Jole
Poisoning Cells (AUI5w 30 -9 ouilylg2 puac) (635 Pgowmo) (ouw 5l Jglw
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. attenuating factors

. relaxing sounds

. challenging conditions of life

. the incoming virus

. strength-training program

. enduring attributes

. bleeding stomach

. warning symptoms

O o0 N oo U1 A W N B

. pain-relieving

10. life threatening
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Past particple + Noun

(Jgrio Cduo + pal)
Developed countries 08l g (5le)guiS
Gathered information o3 591goz ileUbl
Interrupted breathing o Jiho udis
Untreated apnea ol oyloys Luds LS5
Educated people 0358 Jwazi p3y0

199 0yLowls g p05 ®
bl sl b1 955 sl Clsa s 5 00503 a3 B8 (555l allas |y J2d slaJlee
. deceased person
. unknown diseases
. prescribed drug
. experienced person
. repeated question
. trained monkey
. infected patients

. localized infection

O 00 N o Ul A W N B

. swallowed food

=
o

. infected individual

[y
=

. vaccinated person

=
N

. weakened microorganism

=
w

. unexpected charges

=
~

. required equipment

=
Ul

. sealed containers

=
(o))

. decayed teeth
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one of the first people i met was joe frieda. i first met joe standing in a
line at bookstore. i was having a difficult time finding the books for the
english classes i was taking my first semester here. he not only helped me
find my books, but he also gave me some good advice on where to get
tutorial help on campus and where i could find some good restaurants.
we,ve become better friends since then and he has been so helpful in
answering any questions i have about going to school in the u.s and about
american culture. if hadn,t met joe that day. i might still be looking for
the right books for my classes!
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A Passage 1

Another critical factor that plays a part in susceptibility to colds is age. A study
done in the University of Michigan, School of Public Health, revealed particulars
that seem to hold true for the general population. Infants are the most cold-ridden

group, averaging more than six colds in their first year. Boys have more colds than



girls up to age three. After the age three, girls are more susceptible than boys, and
teenage girls average three colds a year to boy's two.

The general incidence of cold continues to decline into maturity. Elderly people
who are in good health have as few as one or two colds annually. One exception
is found among people in their twenties, especially women, who show a rise in
cold infections, because people in this age group are most likely to have young
children. Adults who delay having children until their thirties and forties experience
the same sudden increase in colds.
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Question: The writer in this passage, .........cceu...
a) is highly critical of the issue b) is unaware of the topic
c) considers his personal views d) tries to remain objective
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A Reading comprehension
Passage One:

Although cholesterol has received a lot of bad press in recent years, it is a
necessary substance in the body. It is found in bile salts needed for digestion of
fats, in hormones, and in the cell's plasma membrane. However, high levels of
cholesterol in the blood have been associated with atherosclerosis and heart
disease. It now appears that the total amount of blood cholesterol is not as
important as the form in which it occurs. Cholesterol is transported in the
blood in combination with other lipids and with protein, forming compounds
called lipoproteins. These compounds are distinguished by their relative
density. High-density lipoprotein (HDL) is composed of a high proportion
of protein and relatively little cholesterol. HDLs remove cholesterol from the
tissues, including the arterial walls, and carry it back to the liver for reuse or
disposal. In contrast, low-density lipoprotein (LDL) contains less protein and
a higher proportion of cholesterol. LDLs carry cholesterol from the liver to
the tissues, making it available for membrane or hormone synthesis. However,
excess LDLs can deposit cholesterol along the lining of the arterial walls.
Thus, high levels of HDLs indicate efficient removal of arterial plaques,
whereas high levels of LDLs suggest that arteries will become clogged.
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1- According to the passage..........

a) different forms of cholesterol in the body have similar features
b) cholesterol density fails to indicate how healthy an individual is
¢) cholesterol is not so significant in maintaining personal health

d) the form of cholesterol is more important than its amount

2- The phrase received a lot of bad press in the first line means to...........

a) be criticized in mass media b) present unwelcome consequences

¢) include pressure over time  d) indicate undesirable effects

3- Which of the following statements is TRUE based on the passage?
a) Atherosclerosis is associated with HDLs as opposed to LDLs.

b) Cholesterol is carried in the blood in two forms, namely HDL and LDL.
¢) Thickening of the arterial wall results mainly from high levels of HDLs.

d) The proportion of cholesterol is higher in HDLs compared with LDLs.

4- The word deposit in the last lines is closest in meaning to..........

a) stimulate  b) assimilate ¢) accumulate  d) postulate

5- According to the passage .......... is NOT associated with high HDL levels.
a) reducing arterial plaques b) clogging arteries with cholesterol

c) carrying cholesterol to the liver d) removing cholesterol from the tissues

Passage Two:

The Internet greatly influences people's attitudes about their heath
and health care. They can search almost any topic of interest and become
researchers for their own problems. In the present busy world, doctors
do not always take the time to explain illnesses and possible remedies to
their patients; they may not give scientific details in simple words, either.
Accordingly, many people use Internet resources to find what they need to
know for better medical decisions. But are the recommendations of "experts"
on the Net always accurate and reliable? Are they helpful to everyone that
needs advice on a specific medical condition? The online health products or
information that seem most wonderful are often the most fraudulent. Many
specialists have their own theories about illness and health. For example, a
California physiologist stated two causes for diseases: (1) pollution of the
environment, and (2) parasites inside the human body. She offers two kinds



of health products on the Internet: electronic machines and herbal medicine
which clean out the body (free it of parasites and rebuild new healthy living
cells. Moreover, there are medical experts who recommend kinds of natural,
non-western remedies for modern health disorders. Their advice might
include special diet plans with added vitamins and minerals, folk medicine,
environmental changes, or unusual therapies that patients do not get from
typical doctors.

6- The California physiologist believes that one of the main reasons of
diseases is ...........
a) living things in the environment b) animals and plants

¢) parasites in the environment d) environmental pollution

7- The word fraudulent in line 10 is closest in meaning to ..........

a) available b) dishonest ¢) significant d) attractive

8- It is stated in the passage that a reason for the patients' use of the
Internet to know more about their diseases is that ..........

a) they can find information on the Internet which is more culturally
appropriate

b) they can use Internet resources to make the best decision at a reasonable price
¢) doctors use a technical language to explain their problems

d) doctors fail to take enough time to examine their patients completely

9- The word they in line 8 refers to..........

a) some medical decisions made by the doctors who use the Internet

b) medical suggestions of the experts on the Internet

c) some experts on the Internet

d) the online health products

10- The medical experts favoring natural remedies suggest all of the
following interventions, EXCEPT..........

a) unconventional therapies b) rebuilding new living cells

¢) added vitamins and minerals d) changing patient's living place
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Passage Three:

Ultraviolet (UV) radiation covers the wavelength range of 100-400 nm,
which is a higher frequency and lower wavelength than visible light. UV
radiation comes naturally from the Sun, but it can also be created by artificial
sources used in industry, commerce, and recreation. The UV region covers
the wavelength range 100-400 nm and is divided into three bands: UVA
(315-400nm), UVB (280-315 nm), and UVC (100-280 nm). As sunlight passes
through the atmosphere, all UVC and approximately 90% of UVB radiation
is absorbed by ozone, water vapor, oxygen and carbon dioxide. UVA radiation
is less affected by the atmosphere. Therefore, the UV radiation reaching the
Earth’s surface is largely composed of UVA with a small UVB component.
The amount of UV radiation from the Sun that hits the Earth’s surface
depends on several factors, including the Sun’s height in the sky, latitude,
cloud cover, altitude, the thickness of the ozone layer and ground reflection.
Reductions in the ozone layer due to human-created pollution increase the
amount of UVA and UVB that reaches the surface. This can impact human
health, animals, marine organisms and plant life. In humans, increased UV

exposure can cause skin cancers, cataracts, and immune system damage.
11- According to the passage, excessive exposure to UV is unlikely to
cause ......... .

a) cataract b) skin tumors c) immune disorders d) digestive disorders
12- It is stated in the passage that the visible light ......... the Ultraviolet
(UV) radiation.

a) falls below the wavelength range of

b) falls within the same wavelength as

¢) has a higher frequency than

d) contains all wavelength ranges of

13- Which of the following factors does NOT affect the amount of UV
radiation that hits the Earth’s surface?

a) height above the sea level b) cloud cover of the area

¢) marine organisms and plant life d) ground reflection of the rays

14- It is stated in the passage that the UV radiation which reaches the

Earth’s surface is mostly composed of ...............



a) UVA with a small UVB component b) UVB and large amounts of UVC
¢) equal amounts of UVC and UVA d) UVA, UVB and UVC altogether

15- The underlined word this refers to ......... .
a) the amount of UV radiation

b) Ozone layer

c) an increase in the amount of UVA and UVB

d) an increase in the amount of human-related pollution

Passage Four:

In the summer of 1976, a mysterious epidemic suddenly attacked
two central African towns and killed the majority of its victims. Medical
researchers suspected the deadly Marburg virus to be the cause, but what
they saw in microscope images was entirely a new pathogen which would
be named after the nearby Ebola River. Like Yellow fever and Dengue, the
disease caused by Ebola virus is a severe type of hemorrhagic fever. It begins
by attacking the immune system cells and neutralizing its responses, allowing
the virus to multiply. Starting anywhere from 2 to 20 days after contraction,
initial symptoms like high temperature, aching, and sore throat resemble
those of a typical flu, but quickly increase to vomiting, rashes, and diarrhea,
and as the virus spreads, it invades the lymph nodes and vital organs such as
the kidney and liver, causing them to lose function. But the virus itself is not
what kills Ebola victims. Instead, the mounting cell deaths trigger the immune
system overload, known as cytokine storm, an explosion of immune responses
that damage blood vessels causing both internal and external bleeding. The
excessive fluid loss and resulting complications can be fatal within 6 to 16
days of the first symptoms; however, proper care and rehydration therapy can
significantly reduce mortality rates in patients.

16- The cytokine storm is ......... .

a) a type of external bleeding

b) an explosion in the blood vessels

¢) the consequence of increased cell deaths

d) the damage recovered by the immune system
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17- According to this paragraph, Ebola.......... .

a) is easily distinguished from the flu in its initial stages

b) presents with symptoms like typical flu in the early stages
¢) has symptoms like the typical flu as the disease progresses

d) is another name for Dengue, as used in medical context by clinicians

18- Bleeding in Ebola could be attributed to ......... .
a) the fever resembling Dengue and Yellow fever

b) deadly Marburg virus as a new pathogen

¢) increased immune system response

d) vomiting due to the disease

19- The Ebola virus increases through ......... .
a) the kidney and liver

b) the internal and external bleeding

¢) counteracting the immune system responses

d) invading the lymph nodes and other organs

20- The death rate following Ebola disease ......... .

a) is definitely predictable depending on the affected area
b) is highly increased in the first few days of contraction
¢) fails to be controlled under the current circumstances

d) could be controlled through proper care and therapy

A : Vocahulary

21- Health problems of the poor people can only be ......... through proper

strategies and measures taken by the government.

a) exaggerated  b) enhanced  ¢) complicated d) alleviated

22- Regular sleep, eating patterns, and exercise help people ......... the bad

effects of stress.

a) intensify b) counteract ¢) prolong d) imitate

23- In order not to involve your personal attitudes in the results, you need

to be ......... when doing research.

a) disoriented  b) ignorant c) impartial d) biased



24- University lecturers have the main role in ......... knowledge in all fields
to the students.

a) imparting b) announcing ¢) degrading d) consuming

25- Although scientists have detected many secrets of the central nervous

system, there are still some ......... points which need to be clarified.
a) transparent  b) obvious c) evident d) obscure

26- While taking your exam, you need to block ......... thoughts by
concentrating on what you are doing.

a) constructive  b) intrusive ) supportive  d) inspiring

27- He was not able to cope with the stress and ......... of his job;

therefore, he decided to retire.

a) comfort b) recreation ) strain d) tranquility

28- The health authorities have emphasized that priority should be given
to the......... which help the improvement of health in the country.

a) initiatives b) compartments c) obstacles d) redundancies
29- Some people think that the most essential ......... for good managers is
their organizational abilities.

a) associate b) complication c) repression d) attribute

30- Some bacteria are not responsive to antibiotic therapy because they

have gradually developed ......... to antibiotics.
a) existence b) assistance C) resistance d) prevalence
31- The lecturer was asked to steer the discussion back to the ......... topic

of main importance by avoiding unrelated issues.

a) superficial b) original ¢) trivial d) redundant
32- The health providers are forced to answer any ......... the patients have
about their treatment.

a) queries b) intimacies ¢) contributions d) modifications
33- The student received a lot of ......... comments from his supervisor
helping him improve the quality of his work.

a) disruptive b) constructive c¢) disappointing d) debilitating
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34- The instructor advised students to avoid ......... by strictly following
note-taking standards.

a) frankness b) truthfulness  ¢) plagiarism d) precision

35- The Corona virus is a dangerous, highly ......... viral infection that can
easily spread to other people.

a) transmissible b) dismissible  c) ignorable d) valuable

36- Numerous theories have been ......... on the exact cause of Corona
virus which is yet to be identified.

a) abandoned  b) avoided C) proposed d) oppressed

37- Prevention rather than treatment must be the first ......... of all those
involved in health.

a) census b) concern ¢) burden d) invention

38- With simple ......... measures, the side effects of the lesions under the
skin can be reduced.

a) threatening  b) destructive ) preventive  d) obsessive

39- A damaging decline in blood products can cause huge ......... when
caring for pregnant women with pre-existing medical conditions.

a) contributions b) profits C) opportunities d) challenges

40- We can keep away from infectious diseases by enhancing our .........
disease-causing microorganisms.

a) resistance to b) assistance to c) combination of d) contraction of
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A Reading Comprehension
A Passage 1

The intricate relationship between the nerves and the muscles was first
shown nearly 1800 years ago by Galen ,who proved by experiments that
destruction of a nerve paralyzed the muscle it supplied .He thought that
the muscles were put to work by a spirit ,contained in the nervous system,
which passed from the nerves into the muscles concerned .We now know
that when a nerve is stimulated ,an electrical wave travels along it and causes
the release of a chemical at the nerve endings .It is this chemical which
stimulates muscular contraction .We also know that a normal muscle ,even
when resting ,is in a state of slight tension ,a local reflex action influenced
by higher centers in the brain .To allow movement to occur ,this tension

must be increased in groups of muscles and diminished in others.
1- Galen showed .........cccovceuuunnees

a. in 1800 that the nerves were intricately detached

b. muscle paralysis can be due to its nerve destruction

c. the relationship between nerves and muscles is very simple

d. that 1800 years ago the nerves were unusually separated



2- Galen believed that .........................

a. a spirit was put to work by the nerves in the nervous system

b. the muscles containing the nervous system put the spirit to work
c. a spirit in the nervous system caused the muscles to work

d. the nerves worked with the help of a spirit at the nerve ending

3- Based on scientific information today, with nerve stimulation, ..............
a. an electrical wave is released in the chemicals

b. some chemicals at the nerve ending contract the muscles

c. a chemical at the nerve ending causes muscle production

d. an electrical wave causes the nerve to be paralyzed in muscles

4- According to the passage, all of the following are true except ............

a. in order to be able to move, muscles are stimulated by the nervous system
b. there is now clear information on the relationship between nerves and muscles
¢. muscles experience a significant amount of tension when they are still resting

d. normal muscles are fully free from tension in the state of relaxation

5- If we intend to have a movement, ..............

a. all muscles must become relaxed in the area to be moved

b. chemicals should be diminished in nerve endings

c. tension must be increased in some muscles and decreased in others

d. a local reflex action is influenced and supported by muscles

Passage 2

Dissociative identity disorder) DID ,(previously called multiple personality
disorder, is a psychological condition in which a person‘s identity dissociates
or fragments ,thereby creating distinct independent identities within one
individual .Each separate personality can be distinct from the other personalities
in a number of ways ,including posture ,manner of moving ,tone and pitch of
voice gestures ,facial expressions ,and use of language .Personalities can even
differ in gender ,with a biological female exhibiting male personalities and
vice versa . What is more remarkable is that the alternate personalities ,called

3

“alters “,may also have dissimilar physiological characteristics ,displaying

different allergies ,right -or left-side dominance ,or vision ,which could mean
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that one person may require multiple eyeglass prescriptions to accommodate
the varying alters.

A person suffering from DID may have a large number of independent
personalities or perhaps only two or three ;the average number of alters for
a DID patient is around ten .These alternate personalities tend to become
fixed over time ,and may negatively affect a person‘s life for years .At times,
such people develop alters which may have a tendency to be aggressive ,either
toward people in the sufferer's environment or the other alters themselves.
6- It is stated that people suffering from DID ..............

a. fail to exhibit the characteristics of the opposite gender
b. are more independent than their normal counterparts
c. fail to develop physiological characteristics

d. possess at least two independent identities

7- Posture, moving manner, and gestures are mentioned in the text as ........
a. examples of abnormalities seen in those suffering from DID

b. instances through which DID patients display their new identities

c. specific characteristics that represent a person’s true personality

d. common features which differentiate people from one another

8- It is stated that an allergy shaped in DID sufferers ..............
a. is more difficult to detect than that of a normal person

b. can make them aggressive toward everybody nearby

c. may depend on the new identity they develop

d. is very likely to affect his medical condition over time

9- The alternate personalities which DID sufferers develop ..............
a. might be beneficial to them b. can affect them adversely

c.are temporary and disappear rapidly d. are environmentally determined

10- The physiological characteristics which DID patients display .............. .
a. get fixed in a short period of time

b. make them more immune to disease

c. may depend on their specific alter

d. can be attributed to their early education



Passage 3

Due to the nature of a chronic disease, many women may have already
tried complementary and alternative medications (CAM), perhaps feeling
that modern medicine has disappointed them. A woman may be self
administering CAM when she first consults the midwife, in the mistaken belief
that because they are natural they are safe. Whilst some interventions have
some effectiveness, others require research before they can be recommended.
In a tactful way, the midwife needs to explain that many complementary,
homeopathic and herbal medicines have not been subject to research with
adequate scientific rigor to ascertain if they are safe to use in pregnancy and,
therefore, their continued use cannot be safely recommended. If the mother
is firmly adherent to her beliefs in a product, then the midwife should seek
additional advice from a pharmacist or doctor.

11- The underlined pronoun “they” in the second sentence refers to .........
a. some interventions

b. conventional medications and interventions

c. complementary and alternative medications

d. the mistaken beliefs

12- According to the passage, women may use complementary medications
because........cceeeenn.

a. conventional medicine might not have led to satisfactory results

b. complementary medications have proved to yield satisfactory results

c. they might have misunderstood the midwife's advice

d. the midwife might have mistakenly prescribed a medicine

13- According to the passage, a midwife may need to get advice from a
pharmacist or doctor if the ..............

a. pharmacist or doctor has enough information

b. mother gets seriously ill

c. mother does not like to stop using CAM

d. mother does not use herbal medicine
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14- The text implies that the writer is .................. more investigations and
studies on complementary and alternative medications.

a. in favor of b. opposed to c. uncertain about  d. indifferent to

15- Which of the following would be a suitable title for the above passage?
a. complementary therapy

b. conventional medicine

c. chronic diseases

d. prescribed medication
Passage 4

The public health sector has been quick to embrace the use of text
messaging. The main reason for this is the ability for text messaging to reach a
large segment of the population quickly at low cost. The use of text messaging
in this manner varies from monitoring the influenza rate in Madagascar to
helping raise awareness about sexually transmitted diseases and sexual health.
One of the great successes has been the 7ext 4 Baby campaign. Expecting
mothers text in their due date and receive important prenatal information and
help in finding resources. The hope is that this will lead to healthier mothers
and babies by making expecting mothers aware of simple interventions that
can be taken during pregnancy to decrease the risks of adverse outcomes.
Similarly, success has been seen in programs designed to help patients lose
weight or quit smoking. In a randomized controlled trial, Free et al. evaluated
the six-month abstinence rate of those trying to quit smoking with one group
randomized to receive text messages and one group serving as the control.
They found that the text messaging group had an abstinence rate of double
the control group (%10.7 vs. %4.9). Many other studies also demonstrate
efficacy in using text messaging in smoking cessation. Data demonstrating
the efficacy of text messaging for weight loss is also on the rise but are less

robust than with smoking cessation.

16- The above passage mainly discusses the role of text messaging in

a. influenza prevention b. pregnant mothers’ care

c. public health d. weight loss



17- According to the above passage, relevant informationon......... smoking
cessation.

a. text messaging for weight loss is more efficacious than that for
b. text messaging for weight loss is less strong than that for
c. efficacy of text messaging on weight loss is equal to that of

d. text messaging is efficacious in neither weight loss nor

18- The writer mentions “influenza rate in Madagascar” in the above

passage in order to ..............

a. give an example of an area where text messaging is used
b. state that text messaging is quite different in this area

¢. show high rate of influenza in Madagascar

d. exemplify an area where text messaging is impossible

19- The underlined phrase “this manner” in the third sentence refers to .....
a. easy use of text messaging

b. monitoring the influenza rate

c. use of text massaging in health

d. awareness about sexual health

20- According to the passage, .............. .

a. text messaging cannot lead to healthier mothers

b. Text4Baby has been developed for pregnant mothers
c. research does not support text messaging for smoking

d. Text4Baby is developed for mothers to lose weight
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A Vocahulary

21- Even very simple and common methods of hygiene such as hand
washing can help to control the outbreak of .............. .

a. infection b. suspension  c. suspicion d. ingestion

22- Sometimes when medical tests provide false positives, further testing
may be required for ...............

a. persuasion  b. compensation c. confirmation d. standardization

23- The psychologist was able to make clear what the patient felt despite

the fact that she tried to ............... her feelings.
a. displace b. devise c. disturb d. disguise
24- The pressure .............. by parasitic diseases should be taken into

consideration by scientists studying the case.

a. exerted b. removed c. alleviated d. abandoned

25- Doctors usually refer to different routs of drug .............. for children
because of their resistance to medical intervention.

a. observation  b. administration  c. accumulation d. suppression
26- Microorganisms are ......ccccceeeeeeeeennns into different classes based on
their pathogenic power.

a. transmitted b. transplanted c. categorized d. compared

27- Researchers are constantly working on the factors contributing to
people’s life ............. in order to extend their lifespan.

a. manifestation  b. expectation c. adequacy d. expectancy

28- All members of the medical team agreed on the type of intervention.

There was perfect .............. among them.
a. unanimity b. ambiguity c. utility d. diversity
29- As a health worker, you are expected to ...................... the duties and

responsibilities of your job, with public information on the top.

a. undermine b. undertake c. underestimate d. underlie

30- The caregivers found some signs of hope after a minor dose-change
caused a .....cceeeent drop in the patient’s high fever.



a. reciprocal b. precautious C. proportionate d. recurrent

31- The world is becoming too small with the spread of technological
.............. , as if we were living in a small but global village.

a. abbreviations b. accomplishments c. aggravation d. alienation

32- Despite his doctor’s prescription of daily intake, he kept taking aspirin

a. consecutive  b. regular c. alternate d. successive

33- The patient .............. a bruise on his thigh and was taken to emergency
room, but was soon treated and discharged.

a. supplied b. remained c. contained d. sustained

34- 1t is crucial for asthmatic patients to live in accommodations with

satisfactory .............. through which sufficient fresh air flows.
a. ventilation b. inhibition c. palpitation d. occupation
35- The doctor realized that the patient was .............. because he was

deliberately falsifying the symptoms of his illness.

a. contesting b. revenging c. mourning d. malingering

36- An attempted suicide in which the individual .............. tries to harm
himself/herself is reportedly a common reason for poisoning.

a.incidentally  b.intentionally  c. interchangeably d. accidentally

37- Research has indicated that 80 per cent of the loss of material from the

surface of the teeth could be................... to factors other than toothpastes.
a. accustomed b. attached c. ascribed d. admitted
38- Mother-infant attachment should be ................. by allowing a ‘cuddle’

with the baby whenever possible.

a. fostered b. hindered c. constricted d. refrained

39- Hospitalized patients who are .............. ill or are confined to bed for a
long time may have special nutritional problems.

a. eagerly b. critically c. intimately d. instantly

40- The patient’s tone of speaking .............. his willingness to stop using
the drug prescribed for his disease.

a. immersed b. restored c. replenished d. implied
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